| Circle groups of L+ flowers: 6
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There are & groups of L in 0.
6+ =L

|. Can you complete the bar models and the calculations?

24 28 4= 7

24 +4=_0

2 Can you, complete the division oLULestLons?

Al -6 24k -3 L8+l - |2
Loslo | 20+ -5 36 <L -1
3. Can you fill in the blanks?
LO =L =10 284k <=7
36+ =9 8+ =2

5. 1think these four problems can all be solved by doing 12 + L. Do you agree or disagree? Whye

4 )
There are 12 bags of sweets with 4 ' have 12 crayons and share them
sweets in each bag. equally between 4 people.
How many sweets are there altogether? How, andeiatio gl
\_receive? )
A rollercoaster carriage holds 4 people. " | have 12 buns and | give 4 to my
How many carriages are needed for 12 brother.
people? _ How many do | have left? )

| dLsagree on[g the green and yellow one are divide.

The blue one is 12 x 4 and the red one is 12 — L.




Jane says “There are some nuwmbers that are in the l times table that are not
in the 2 times table’

Do you agree or disagree with Jane? Whay?

Explavin your answer-

| dLsagree because every answer in the L+ times table is even and every even, number is in the 2

times table.

If the number is in the L times table it will be in the 2 times table too.

Five children are playing a game. Theyscorelr points Jor emerybucket they knock down.

Ben 16
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Jenna 8

| How many buckets did they knock down each?
Ben— L+
James —7
Amvit— 3
Kaci— 8
Jenna - 2
2. Howmany buckets did they knock down altogether?
L +7+4+8+2=25
3. Howmany more buckets did James knock down than Ben?
7 -4 =3




